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Figure 11. Bayesian Score Results at Sample Size 500 for the ALARM, ALARM3,
ALARM5S, ALARM10, HAILFINDER, HAILFINDER3, HAILFINDERS, and HAILFINDER10
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Figure 12. Bayesian Score Results at Sample Size 500 for the BARLEY, MILDEW,

MuniIN, Pias, LiNk, and GENE Networks.
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Figure 18. Bayesian Score Results at Sample Size 1000 for the CHILD, CHILD3,
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Figure 14. Bayesian Score Results at Sample Size 1000 for the ALARM, ALARM3,
ALARM5, ALARM10, HAILFINDER, HAILFINDER3, HAILFINDERS, and HAILFINDER10
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Figure 15. Bayesian Score Results at Sample Size 1000 for the BARLEY, MILDEW,

MuNIN, Pias, LINK, and GENE Networks.

Ave. Bayesian Score Results - Link — Sample Size 1000

-635
640
645
650
655

-660

R R I
(neqg) 21005 ueIsakeg

-300
-350
-400
-450
-500
-550

(na@g) 81005 ueISakRY

vadl

od

SO
0T=10S
S=10S
02=) 240
0T=) 240
S=1240
023 T40
0T=) T40
S=1Td0
OHAW

-665

-600

S39
vadl

od

SO
0T=40S
S$=10S
0¢=212d0
0T=21 240
§=1240
02=21 T40
0T=2 THO
§=4TdO
OHAW

:12; p.6

16

5/08/2005;

>

scores_results.tex

C12_complete_



o
o
o
n
O
N
()
2
=
£
©
n =
1o
)
S3
c0n
[S]
¥
J2ll
=
22
©
k3
a?
e
3
2]
c
K
7]
S
©
o
$ ¥ 3 g %
< T I T T
(na@g) a109S ueisakeg
o
[}
o
w
o
N
(7]
2
Q
£
&z
[
Sz
z2
Sy
S
¥
m__
a0
3 3
xa
L5
3
%)
<
8
u
Y
©
11}
9]
Aw555950515
N T e T oo ¥ §og
1,._1_1._2_4_

1 ! 1
(na@g) 21095 uelsakeg

s39
vadl

od

SO
0T=30S
S=10S
02=4 240
0T=) 240
S=1 240
02=21 T40
0T=) THO
S=1 Td0
OHAW

EES)
vadi

od

SO
0T=40S
S=10S
02=) 240
0T=) 24O
S=1240
02=4 THO
0T=} T4O
S=1 Td0
OHWIW

Ave. Bayesian Score Results — Child5 - Sample Size 5000

Ave. Bayesian Score Results — Child10 - Sample Size 5000

Error Bars = +/- Std.Dev.

Error Bars = +/- Std.Dev.

-180

-90

185
190

(naag)

o
i

-195
-200
-205
-210

91025 uelsakeg

o
ISt
=

T
(naqg) 2100s uelsakeg

-105

vadl

od

SO
0T=30S
S=10S
02=4 240
0T=) 240
§=) 240
02=) Td0
0T=) TdO
S=1Td0
OHAW

-215

s39
vadi

od

SO
0T=40S
S=10S
02=) 240
0T= 240
S 2d0
02= THO
0T= THO
S=1Td0
OHAW

= +/- Std.Dev.

Ave. Bayesian Score Results — Insurance3 — Sample Size 5000
Error Bars

= +/- Std.Dev.

Ave. Bayesian Score Results — Insurance — Sample Size 5000
Error Bars

o
]
T

-60

* Ss39

vadlL

Od

SO
0T=40S
§=10S
0¢=4 240
0T=4 240
G=) 240
0Z2=4 TdO
0T=4 THO
S=1 Td0
OHAW

@ S 13
¢ T b

(naqg) 81095 ueisaheg

-80

s39
vadl

od

SO
0T=40S
S=10s
02=) 240
0T=) 240
§=1240
02=) TdO
0T=4 T40
S=) THO
OHWW

o = ~
I & N

-23

T ) )
(na@g) 8109S uelsakeg

= +/- Std.Dev.

Error Bars

Ave. Bayesian Score Results - Insurance10 - Sample Size 5000
-200

+/- Std.Dev.

Ave. Bayesian Score Results - Insurance5 — Sample Size 5000
Error Bars

-100

s & 3
§ 8 8
) o

(na@g) 8100s ueisakeg

-210
220
-230

w o 1w o »w 9
S 3 4 & 8§ @
S99 9 99

T i
(naqaq) 8100s ueIsakeg

-135

-270

s39
vadi

od

SO
0T=240S
S§=40S
02=) 240
0T=4 240
S=21240
02=) THO
0T=) THO
S=21Td0
OHAW

S39
vad.l

od

SO
0T=40S
§=408
02=){ 240
0T=) 240
§=1240
02=) THO
0T=) THO
S THO
DOHAIN

Figure 16. Bayesian Score Results at Sample Size 5000 for the CHILD, CHILD3,
CHILD5, CHILD10, INSURANCE, INSURANCE3, INSURANCES, and INSURANCE10Q Net-

works.
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Figure 17. Bayesian Score Results at Sample Size 5000 for the ALARM, ALARM3,
ALARM5, ALARM10, HAILFINDER, HAILFINDER3, HAILFINDERS, and HAILFINDER10

Networks.
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Ave. Bayesian Score Results — Mildew - Sample Size 5000
Error Bars = +/- Std.Dev.

Ave. Bayesian Score Results — Barley — Sample Size 5000
Error Bars = +/- Std.Dev.
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Ave. Bayesian Score Results - Gene — Sample Size 5000
Error Bars = +/- Std.Dev.

Ave. Bayesian Score Results - Link — Sample Size 5000
Error Bars = +/- Std.Dev.
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Figure 18. Bayesian Score Results at Sample Size 5000 for the BARLEY, MILDEW,

MuNIN, Pias, LINK, and GENE Networks.
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